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1. The whole number part of the decimal number 6750.3650 is
(i) 6760 (ii) 675 (iii)) 67503 (iv) 6750 (v) 3650

2. The whole number part of the decimal number 8037.89 is

(i) 8047 (ii) 89 (iii)) 803 (iv) 80378 (v) 8037

3. The integer part of the decimal number 4.34 is

(i) 4 (i) 34 (iii) 0 (iv) 14 (v) 43

4. The integer part of the decimal number 57.76 is
(i) 67 (i) 577 (iii)) 57 (iv) 76 (v) 5

5. The integer part of the decimal number 545.219 is
(i) 219 (ii) 54 (iii)) 5452 (iv) 555 (v) 545

6. The integer part of the decimal number 8042.8334 is
(i) 8052 (ii) 804 (iii) 80428 (iv) 8334 (v) 8042

7. The decimal part of the decimal number 40.3 is

(i) 4 (ii) 50 (iii) 403 (iv) 40 (v) 3

8. The decimal part of the decimal number 90.67 is
(i) 100 (ii) 90 (iii) 9 (iv) 67 (v) 906

9. The decimal part of the decimal number 921.969 is
(i) 969 (ii) 921 (iii) 9219 (iv) 931 (v) 92

10. The decimal part of the decimal number 4346.6895 is
(i) 4356 (ii) 4346 (iii)) 434 (iv) 6895 (v) 43466

11. The whole number part of the decimal number 5.92 is

(i) 15 (i) 92 (iii) 0 (iv) 5 (v) 59

12. The whole number part of the decimal number 54.14 is

(i) 64 (i) 14 (i) 5 (iv) 541 (v) 54

13. The whole number part of the decimal number 659.713 is
(i) 659 (ii) 65 (iii)) 713 (iv) 6597 (v) 669

14. one tenths of 3 is how much?

(i) 3 (ii) 30 (iii) 3 (iv) 3 (v) 3
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one hundredths of 2 is how much?
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one thousandths of 6 is how much?
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Find the number of decimal places in the decimal number 9.6 is

(i) 4 (i) 3 (i) 2 (iv) 0 (v) 1

Find the number of decimal places in the decimal number 2.01 is

(i) 0 (ii) 4 (i) 2 (iv) 1 (v) 3

Find the number of decimal places in the decimal number 4.010 is

(i) 0 (i) 3 (iii) 2 (iv) 4 (v) 1

Find the number of decimal places in the decimal number 1.0003 is

(i) 2 (ii) 4 (iii)) 6 (iv) 5 (v) 3
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